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#include <algorithm>
#include <cstdio>
#include <cstring>
#include <iostream>
#include <stack>
#include <vector>
using namespace std;
typedef long long 11;

int read
int x =0, flag = 1;
char c¢ = getchar();
c>"'9" || c<'0") & c = "'-'
c = getchar();
c__l_l
flag = 0, ¢ = getchar();
c<="'9"&& c >= '0'

X = (X << + (X << +c - '0";

c = getchar();
flag ? x : -Xx;

const int MAX = 3e3 +

’

int pic[MAX];
pair<int, int> seg|/MAX * MAX];
int tot;

11 dp!MAX] [ MAX];
inline void init(int n
tot = 0;
int 1 = 0; i <= n;i++
memset (dp[i], 0, sizeof(ll) * (n +

int main

int t = read();
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int n = read();
1l ans = 0;
int 1 = 1; i <= n;i++
pic/i] = read();
int i = 1; 1 <n ;i++
int j =1+ 1; j <=n;j++
picli! == picl]j
seg/++tot]| = {i, j;
dplil[j] = 1;
int 1 = 1; i <= n;i++
int j =1; j <= n;j++
dpii!!j] +=dpli - 1/[j] +dplillj - 1] - dpli - 111 - 1];
int tem = 1; tem <= tot;tem++
int i = seg[tem]|.first, k = segl/tem].second;
K=n || k - 1-==
ans += (dp/k - 1][n] - dplil[n] - dplk - 1]/k] + dpli! k]);
init(n);
printf("slLld\n", ans);
0;
E
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#include
#include
#include
#include
#include
#include

<algorithm>
<cstdio>
<cstring>
<iostream>
<stack>
<vector>

#define 1s (node << 1)
#define rs ((node << 1) | 1)
using namespace std;

const int MAX = 5e3 + 20;

int read
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int x = 0, flag = 1;
char ¢ = getchar();
c>"'9" || c<'0") & c I= "-!
c = getchar();
Co== .
flag = 0, ¢ = getchar();

c <= '9'" & c >= '0"'

X = (X << + (X << +c - '0';
c = getchar();

flag ? x : -Xx;
int mmin[MAX << ;
int pic[MAX];
int dp!/MAX][MAX],n;

inline int get min(int x,int y

picl[x] < picly
X;

Y
void build(int node,int 1,int r
1L ==r

mmin|/node] = 1;

.
’

int mid = (L + r) >> 1;

build(ls, 1, mid);

build(rs, mid + 1, r);

mmin[node| = get min(mmin[ls| , mmin[rs]|);

inline int qurry(int node, int 1, int r, int L, int R

1l ==L and r ==
mmin| node;
int mid = (L + R) >> 1;
r <= mid
qurry(node << 1, 1, r, L, mid);
1 >= mid +
qurry( (node << | 1, L, r, mid + 1, R);
get min(qurry(node << 1, 1, mid, L, mid) , qurry((node <<
, mid + 1, r, mid + 1, R));
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int mfs(int 1,int r,int mins

1>r
dplll[r] I= -
dpllllr];
== r and pic/l] - mins <=
int pos = qurry(1, 1, r, 1, n);
int ann = min(r - 1 + 1, mfs(l, pos - 1, picl/pos|) + mfs(pos + 1, r,

pic|pos + pic|pos!-mins);
dp/ll[r] = ann;
ann;

int main

n = read();

memset(dp, -1, sizeof(dp));
int i = 1; 1 <= n;i++
picli read();

build(1l, 1, n);

cout << mfs(1l, n,0);
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